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QUESTION 1

Which three wireless product families are supported in the current DNA-C 1.1 release? (Choose three.) 

A. AP 1260 

B. WLC 8540 

C. WLC 5508 

D. AP 3800 

E. WLC 3504 

Correct Answer: BDE 

 

QUESTION 2

Which is a key function of a Digital Network? 

A. Centralized provisioning 

B. Software upgrades 

C. Provides secure data plane with remote vEdge routers 

D. Nat traversal 

Correct Answer: C 

 

QUESTION 3

Which two options are used as part of an ISE POV? (Choose two.) 

A. Youtube 

B. CiscoTV 

C. dCloud 

D. POV Kit 

E. Implementation on Production Network 

Correct Answer: CD 

Reference:https://community.cisco.com/t5/security-documents/selling-ise-demos-and-povs/ta-p/3629542 

 

QUESTION 4
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What is the default interval for BFD packets? 

A. 1 second 

B. 15 seconds 

C. 10 seconds 

D. 5 seconds 

Correct Answer: A 

 

QUESTION 5

Which three technologies are used in an SD-Access Fabric? (Choose three.) 

A. MPLS 

B. TrustSec 

C. VXLAN 

D. OTV 

E. LISP 

F. RSVP 

Correct Answer: ACE 

 

QUESTION 6

What is a challenge of having an SD-Access Centralized design where a single fabric encompasses the main site and
all branch sites across the WAN? 

A. End to End Routing is not supported 

B. SSIDs would be the same across all sites 

C. DNA Center does not support it 

D. Since the traffic is encapsulated. SD-WAN features can\\'t be used to optimize/route traffic. 

Correct Answer: A 

 

QUESTION 7

Which three services must be enabled under the ISE Admin settings to successfully integrate ISE, when integrating ISE
with DNA-C? (Choose three.) 

A. SXP services 
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B. ServiceNow 

C. Threat- Centric NAC 

D. Infoblox 

E. PxGrid 

F. Passive Identity Service 

Correct Answer: AEF 

Reference:https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/network-automationandmanagement/dna-
center/1-1/install/b_dnac_install_1_1_0P2/ b_dnac_install_1_1_0P2_chapter_010.pdf page 

 

QUESTION 8

How many bytes does a VxLAN header add to an original Ethernet frame? 

A. 36 

B. 50 

C. 48 

D. 64 

Correct Answer: B 

Reference:https://www.cisco.com/c/en/us/support/docs/lan-switching/vlan/212682-virtual-extensible-lanandethernet-
virt.html 

 

QUESTION 9

What two best describe self-healing functionality on vEdges? (Choose two.) 

A. Software reconfiguration capability allowing for dynamic reconfiguration of existing channels 

B. In software upgrade process, rolling back to the previously running software image when connectivity to vManage
fails 

C. vManage detect routing outage detection to detect reachability outages and understand their scope and likely root
cause 

D. With configuration change, rolling back the configuration change when loss of connectivity to vManage 

Correct Answer: BD 

 

QUESTION 10

Which three methods can be implemented and deployed to gather data and provide insight? (Choose three.) 
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A. IPv6 

B. ARP caching 

C. FNF 

D. BUM traffic 

E. Syslog 

F. SNMP 

Correct Answer: CEF 
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